10.

11.

12.

13.

Public Administration(Ph.D. & M.Phil.) (1077)

Which of these are considered to be having “Integral view of Public Administration”?
1. Dimock 2. White 3. Simon 4. Gulick
A)1&2 B)1&3 C) 2&3 D) 3&4

Whose name is associated with Mixed Scanning System ?
A) Waldo B) Mayo C) Etzioni D) Likert
The inaugural conference of the Commonwealth Association for Public Administration

was held in the year.............
A) 1988 B) 1983 C) 1994 D) 1998

Which of the following is one of the authors of “ Reinventing Government”?
A) Tead B) Waldo C) Buchanen D) Gaebler

“Administration includes the functions of executing the law as well as the semi scientific,
quasi judicial and quasi business or commercial functions “. Who said it?

A) Gladden B) Goodnow C) Dernard D) Wilson
“Incredulity to meta narratives” is considered as a feature of...........

A) New Public Management B) Neo Taylorism

C) Marxism D) Postmodernism

Which one is not an element of Rule of Fair hearing?
A) Right to notice B) Subject Matter bias
C) Rule against dictation D) Financial incapacity to attend enquiry

Split system in Indian administration is generally referred to..........
A) Policy making and Executing agencies B) Generalists and Specialists
C) Political and Permanent executives D) Audit and Accounts

Which of the followings is not a basic feature of New Public Administration?
A) Client orientation B) Development orientation
C) Social equity D) Phenomenology

Whose name is associated with combining Span of Control with Span of Attention ?
A) Merton B) Simon C) Blau D) Graicunus

Which of the following is used mainly for designing , planning and controlling a project ?
A) MBO B) PERT C) MIS D) ZBB

In which year the IIPA was established ?
A) 1954 B) 1956 C) 1958 D)1959

Which one has not been associated with ecological approach to Public Administration?
A) Riggs B) Dahl C) Goodnow D) Gaus
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Under the Policy Cut motion the money demanded may be reduced to :

A) Rs. 100

National Commission on SC is a

B) Rs. 1000

A) Constitutional body
C) Body created by executive

C)Rs. 0

D)Rs. 1

B) Statutory body

D) A Society

Which one is not a veto power with the President of India ?

A) Suspensive veto
C) Pocket veto

B) Secret veto

D) Absolute veto

A “money bill “has been defined in the Constitution of India under Article...

A) 109

B) 110

C) 117

Which one falls in the category of a Staff Agency?
B) NITI Aayog

A) Agriculture Dept.
C) Labour Union

Which Commission recommended 40% British and 40% Indians as direct recruits to

Superior Service in India?

A) Aichison

B) Islington

D) LIC

Which is generally not a unit of Revenue administration ?

A) Block

B) Village

D) 118

Which of these is not included in the eleventh Schedule of the Constitution?

A) Fisheries
C) Family Welfare

An NGO may be established under....

A) Indian Companies Act

C) Indian Trust Act

C) Macaulay D) Lee
C) District D) Tehsil
B) Liberaries

D) Rural Sports

B) Cooperativ

e Societies Act

D) All of these

Which of these includes mainly the proposals for taxation ?
B) Finance Bill

A) Appropriation Bill

C) Supplementary Bill

D) Economy Bill

The setting up of Inter State Council was recommended by...
A) Punchhi Commission

C) ARCII

For the election of members of a Vidhan Parishad , which of these do not take part ?

A) Graduates
C) Industrialists

B) Sarkaria Commission
D) Rajamannar Commission

B) Teachers

D) Municipal Councillors

Mayor-in- Council system was adopted for the first time in

A) Mumbai

B) Kolkatta

(2)

C) Chennai

D) Delhi
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Ward Committees are required to be set up in the cities having a population above....

A) 3 lakh B) 5 lakh C) 7 lakh D) 10 lakh
The Industrial Policy Resolution , 1948 divided the industries into.......... categories
A)2 B)3 04 D)5

What is the percentage of urban population in India as per last census?

A) 28.9 B)31.2 C)33.5 D)35.3

A notice of ...... days is required to be served to file a suit against Government.
A) 30 B) 40 C) 50 D) 60

PESA Act was passed in the year.....

A) 1995 B) 1996 C) 1997 D) 1998
Which one is odd?

A) Statutes B) Guidelines C) Rules D) Ordinances
Content Analysis is closely associated with.....

A) Research methodology B) Policy Making

C) Budgeting D) Training

Point Factor Rating is a technique commonly used in.....

A) Job Evaluation B) Project Management

C) Project Management D) Policy Analysis

Which one is an essential feature of NPM?

A) Focus on policy B) Cost cutting

C) Legal remedies D) Social equity

Who is considered as the pioneer of the concept of “Street level bureaucracy”?

A) R Merton B) M. Crozier C) P. Selznik D) M. Lipsky
“In Basket Method” is Associated with .....

A) Decision Making B) Monitoring C) Training D) Supervision
The seat of International Institute of Administrative sciences is at ..............

A) New York B) Brussels C) Paris D) Berlin
Inductive logic proceeds from ......

A) Particular to general B) General to general

C) Particular to particular D) General to particular

Controlled group is commonly used in ......
A) Exploratory Research B) Historical Research
C) Experimental Research D) Descriptive Research
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A number of motor vehicle accidents on Ludhiana road in a month is which type of
variable?

A) Continuous B) Nominal C) Ordinal D) Discreet numeric
How many Sustainable Development Goals have been set by NITI Aayog for 2030 ?
A) 17 B) 15 O) 13 D)11
According to Robert A. Dahl the attempt to create a science of public administration was
handicapped by the three basic problems . Which are those three?

1. Values 2. Norms 3. Individual personality 4. Social Framework
A)1,2,3 B)1,3,4 C)2,3,4 D)1,2,4
Which one is generally not seen as an essential feature of civil society?
A) Non-State institute B) Full autonomy
C) Voluntarism D) Facilitating citizen participation
Which one is not a type of hypothesis?
A) Directional B) Complex C) Unrelated D) Statistical
Who laid the foundation of Sensitivity Training?
A) Kurt Levin B) Herbert Simon C) Frank Marini D) Peter Drucker
Match List-I with List-II and select correct answer by using the code given below the

lists.

List-1 List-11
a) Decentralization 1. Based on political and legal action
b) Devolution 2. Based on administrative action
¢) De-concentration 3. Based on functional imperative
d) Delegation 4. Based on political, legal and administrative action
a b c d
A) 4 1 2 3
B) 4 2 3 1
O 1 2 4 3
D) 1 3 4 2
List-I (Books) List-II (Authors)
a) The Dynamics of Bureaucracy 1. Warren Bennis
b) The Politics of Bureaucracy 2. Michel Crozier
¢) Bureaucracy and Representative Government 3. Peter M. Blau
d) Beyond Bureaucracy 4. Gordon Tullock
5. William Niskanen
a b c d
A) 1 2 4 5
B) 1 3 2 4
O 3 4 5 1
D) 3 5 2 4

C))



49. List-I List-I1

a) Incremental Approach 1. Y. Dror

b) Rational Approach 2. David Easton
c¢) Systems Approach 3. H. Simon

d) Normative-Optimum Model 4. H. Lasswell

5. C. Lindblom

a b C d
A) 4 5 1 2
B) 5 3 4 1
O) 4 2 1 5
D) 5 3 2 1

50. A policy that makes one or several persons better off without hurting anyone else “has
the spirit of

A) Oligopoly B) Pareto Optimality
C) Perfect Competition D) Policy Transfer

X-X-X
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